Pl /

Numeroiden prosenttiosuus (puuttuva luku)

x 50% = 24.5
x 50% = 27
x20% = 6.2
x 80% = 50.4
x 70% = 49.7
x 20% = 14.8
x 20% = 0.8
x 80% = 9.6
x20% =34
x 30% = 0.9

www.snowmath.com

Paivimadra:
x70% = 32.2
x 10% = 8.6
x 80% = 51.2
x 90% = 83.7
x20% =3.4
x 20% = 18.6
x 10% = 1.6
x 60% = 52.8
x50% = 1.5
x40% = 12.4

Pisteet:



https://www.snowmath.com

Pl ik /

Numeroiden prosenttiosuus (puuttuva luku)

Nimi:

49 x 50% = 24.5

54 x 50% = 27

31 x20% = 6.2

63 x 80% = 50.4

71 x70% = 49.7

74 x20% = 14.8

4 x20% = 0.8

12 x 80% = 9.6

17 x20% =3.4

3 x30% = 0.9

Paivamaara:

46 x 70% = 32.2

86 x 10% = 8.6

64 x 80% = 51.2

93 x90% = 83.7

17 x20% = 3.4

93 x20% = 18.6

16 x 10% = 1.6

88 x 60% = 52.8

3x50%=1.5

31 x40% = 12.4
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Pisteet:
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